®
L
>
o
o
=
o
: : ; : B,
Linear Rail System Linear Rail System z
<
ot
o
SBIBNS i ELSH AR SBIZNS i EL SRS =
SBI High-load Linear Rail System http://www.sanhan98.com E-mail:sanhan98@163.com SBI High-load Linear Rail System
SBI-HL/HLS/HLL
~ Mro Mpo
- T ”,,,,/ ) o
s N
4-MxDP w 2-Q1 (N1 L
) / - L1 N2 47Q2
/ - .
‘ o il e -D 1PN ‘ ‘ [ F] i
| : ,
Myol 4 K " ol © U lof T
el : H‘H ; = =
H1 — N N
Y / HEE ]/
E »J. d
w2 wi_ G ;
(i{ﬁUnit : mm)
RER~ R R T =
Mounting dimension Block dimensions SR~ EAE BiFErH4%E BRE
Rail dimension FEHE | Permissible static Mass
S REIZNFL A 127 S Basic load moment
Mounting tap hole Grease fitting ; | tng kN «m i | E
Model | lw | L | E L1 | T«1| K Wi w2 | H1|F Bolt hole 6 |l kN IA-ml S |
B|J| M| DP TI N1 | T2 |N2| Q1 | *Q2 d D h 'erat 1 C | Co | Mro | Mpo | Myo | kgl | tkg/m]
LO
SBI15 HL 24 | 34 1638 3 26 | 26 | M4 | 4 |452] 6 21 | 45 | 55| 38 | 38 | M4x0.7 | @35 15 9.5 13 60 45 7.5 5.5 20 3000 141 241 016 | 017 | 017 | 019 1.3
SBI15HLS | 24 | 34 | 568 | 3 26 | 26 | M4 | 4 |382] 6 21 | 45 | 55 | 38 | 38 | M4x0.7 | @335 15 9.5 13 60 45 7.5 55 20 3000 123 | 183 | 013 | 0.08 | 0.08 | 0.15 1.3
SBISHLL | 24 | 34 | 794 | 3 26 | 34 | M4 | 4 608| 6 21 | 45 | 55| 38 | 38 | M4x0.7 | @35 15 9.5 13 60 45 7.5 55 20 3000 171 317 | 021 ] 029 | 029 | 0.26 1.3
SBI25 HL 36 | 48 | 92 | 55| 3 | 35 | M6 | 6 70 | 12 | 305 6 12 5 | 55 |M6x0.75| @35 23 12.5 20 60 7 11 9 20 4000 315 | 521 | 056 | 056 | 056 | 0.69 3
SBI25HLL | 36 | 48 | 108 | 55 | 35 | 50 | M6 | 6 86 | 12 | 305| 6 12 5 | 55 |M6x0.75| @35 23 12.5 20 60 7 11 9 20 4000 36.7 | 644 | 069 | 084 | 084 | 085 8
SBI30 HL 42 | 60 |1076] 7 40 | 40 | M8 | 8 |796| 12 | 35 | 85| 12 | 78 | 5 |[M6x0.75| @57 28 16 23 80 9 14 12 20 4000 428 | 654 | 085 | 077 | 077 | 1.04 | 425
SBI3OHLL | 42 | 60 |131.6] 7 40 | 60 | M8 | 8 |1036| 12 | 35 | 85| 12 | 78 | 5 |[M6x0.75| @57 28 16 23 80 9 14 12 20 4000 513 | 847 | 110 | 130 | 130 | 137 | 425
SBI35 HL 48 | 70 |1246| 75 | 50 | 50 | M8 | 8 [946| 15 |405| 8 12 6 |M6x0.75| @57 34 18 26 80 9 14 12 20 4000 595 | 891 | 142 | 128 | 128 | 156 | 6.02
SBI35HLL | 48 | 70 |152.6| 7.5 | 50 | 72 | M8 | 8 |1226| 15 | 405 | 8 12 8 6 |M6x0.75| @57 34 18 26 80 9 14 12 20 4000 713 | 1153| 183 | 212 | 212 | 204 | 6.02
SBI45 HL 60 | 86 | 142 | 9 60 | 60 |M10O| 10 | 108 | 17 | 51 | 105|135] 93 | 65 | PT1/8 | @57 45 20.5 32 105 14 20 17 22.5 4000 792 | 116.3| 248 | 190 | 190 | 280 | 9.77
SBI45HLL | 60 | 86 | 174 | 9 60 | 80 |M10| 10 | 140 | 17 | 51 |105|135| 93 | 65 | PT18 | @57 45 20.5 32 105 14 20 17 22.5 4000 948 | 150.5| 3.21 | 314 | 314 | 369 | 9.77
SBI55 HL 70 | 100 (1724| 12 | 75 | 75 [M12| 12 | 131 | 21 58 | 12 | 13 | 12 8 PT1/8 | @87 58 23.5 38 120 16 23 20 30 4000 | 127.3| 181.8| 481 | 297 | 297 | 442 | 1372
SBIS5HLL | 70 | 100 [211.8| 12 | 75 | 95 [M12 | 12 |170.4| 21 58 | 12 | 13 | 12 8 PT1/8 | @87 58 23.5 38 120 16 23 20 30 4000 | 1479 2245| 595 | 478 | 478 | 582 | 13.72
OC (EATENHM) , Co (EAEERFHITR)
C (Basic d% mic load ratmg) Co (Basic static load ratin
*02 (Ul ,LEH*B#E’LE)\}’L*EE, LABR L AN S RS RNER
@ 7EIEIT I MIE M E T, HITSBITHAL.
*Q2: The hole of side grease nipple is not made to prevent a foreign substance from going into inside.
When you order the side grease nipple, we build it by ourselves.

@172 @173



